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Solve each equation.

13) log (1-3n)= log (—2n+ 4) 14) log (9- 2p) =log (—3p +38)

15) log (2m i—;+3) 16) log, (x—2)=10g2(2x—9)
;4'\'(:\‘ ZL /(\’\"5 X"Q\ ng‘q
— T 20 —X -X
q ¥ -3n X ) - X =9
—3 { -5 T4 19
Lt 30 o= x
o W el

~atN -

——



“
),
17) log , (x*—6)=1log , 3 18) log, (3a® +9a) =log, (-20 +2a°)( . 5
'GP SN , 2 a E
‘k—'i\—o X_:a 5Q+C\o\ - 20¥da
- A20
Xa:’ﬂ X=>D A 20 N O\j l
X 3 .
rrl’ _qu 3 EENELEEESE S =7
me;“"%’\'\; -0 - O (= 20
- =3 o (!_0&6;;* P Y |
»x*-4q4 =0 C=-qQ a- b C- "’-——'f__b_ﬁ;lﬁ_gﬁ
19) log, (-7n-2)=1log, (n* +8 20) log ., (63-n)=Tog - (P —3n) -2 O~
“In-2 £+ CL3-0 030 :
AN N N ; N
-2 Y\ﬂxv’l(\%‘( Lpf) g SO _Q\r\@3
o T o > -
R S T S = T R VN P R
q _@O(W\,ULOK Q\O\ |
S %d(oi* N av = :n'* kg(t\L
e o>
21) M:-m 22) Slog, (n—6) =0
. rD ‘\'_'//3/( Say
l n-6y=0
OC;\Z’)L /\
p/"
. 30 e (o
4 A-0
\
-3( P _-1—--—!_&
E‘C’Tn/)
Condense each expression to a single logarithm. r\r\w\‘\hQ ¢
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Expand each logarithm.
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